— HLRERHA
LA MODBUS RTU %34

AEIEEE, N81,N82,081

T 55 1~ 4 (TS EGARE M AR AR R SRS AR e EE B

TR | 1 2 30 |4 | R | SR
#i8H  |OFF |OFF |OFF | OFF | 9600k N8l
TR | 1 2 30 |4 | HEEERR | SR
#i8H  |OFF |[ON | OFF | OFF | 19200k N8l
TR | 1 2 30 |4 | R SR
8 |ON  |OFF | OFF | OFF | 38400k N8l
TERERARA | 1 2 30 |4 | EERERE | SRR
s |ON |ON | OFF {OFE.| 115200k | N8l

= 5B 1~ 4 (S5 i R KSR AR S E e R
fEigEE |1 2 3 4 AR | SRR
87 |OEF | OFF._ | OFE{|ON | 9600k N82
fEREEERE | 1 2 3 4 HBERERR | SRR
58 JOFE. |ON [OFF |ON | 19200k N82
fEHEEERE | 1 2 3 4 HEERERR | SRR
SEFJON  |OFF | OFF |ON | 38400k N82
fERERERE | 1 2 3 4 HEERERR | SRR
$RE7 [ON | ON | OFF [ON | 115200k | N82




VO~ 55 1 ~ 4 (EEHEEBRRR RN 2R R S PR s A e e Fe Bl
fafEbak | 1 2 3 1 AR | SR
28 |OFF |OFF |ON | OFF | 9600k 081
fERERERE | 1 2 3 1 AR | SR
387 |OFF [ON  |ON  |OFF | 19200k 081
fERERERE | 1 2 3 1 R | SZRIEE
X8 |ON  |OFF |ON |OFF | 38400k 081
TEigEE | 1 2 3 1 AEN R SRR
P |ON |ONJON [OFF | 115200k | 081
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FNERf 1. FEELDO  EERREySdl R (16 #Efr)

ks liliaa SENE EHEE CRC fa &
01 03 00 00 00 01 84 0A
[EHEFSLIT @ (16 #EAr)

AR liliass (B [EIREEOESEEN CRC g hiE

01 03 02 FF FF

#EeE - Ol{EG S EEE R DO

FF FF i (A 1111111111111108

2.2 A_DO sRikan Sl (16 #Efr)

AR A SENE =AEE CRC & HE
01 06 00 00 FF FF 88 TA

st @ BUEHIERET AT

#iff : DO A%

1. B ABIE 0: il B — (17 225> 0000000000000000
2. BT A¥fE 255 8 B — A <574 1111111100000000
3. B AE{E 65535 ) A 1111111111111111

VU LR SEERPERR

1. B EMANEEESH S0 USB /232 #iEsEz s (Comport) AVELE & IEHE
2.t BEYE | HI4E | N81, N82 [yt E & & IFiE

3. A RS485 HYIE SRR 2 A FEET



sl < 103/ B Ad< 106 (DO-8#H= DO-164H )

SSHAIEG ) | B ]
0000 DO il : 0 ~ 65535(--#E(ir)
1~164{

BIT0=5% 148 DO
BIT 1 =252 44 DO
BIT 2 =%5 344 DO
BIT 3 =5 4 44 DO
BIT4=555%1 DO
BIT5 =55 6 45 DO
BIT 6 =55 7 4 DO
BIT 7 =55 8 4 DO
BIT 8 =55 9 45 DO
BIT 9 =55 10 45 DO
BIT 10 =2¢ 11 45 DO
BIT 11 =55 12 45 DO
BIT 12 =55 13 44 DO
BIT 13 =5 14 2 DO
BIT 14 =25 15 44 DO

BIT 15 =25 16 44 DO




sl < 103/ B Ad< 106 (DO-82#H= DI-16%H )

AR 2B E (16 HE(ir) 2% st
0001 DI

BIT 0 =55 1 4f DI
BIT 1 =55 2 4 DI
BIT 2 =25 3 4H DI
BIT 3 =% 4 2 DI
BIT 4 =55 5 4f DI
BIT5 =55 6 48 DI
BIT 6 =55 7 48 DI
BIT 7 =2 8 44 Dl
BIT 8 =55 9 4H DI
BIT 9 =5 10 4H DI
BIT 10 =3¢ 11 4f DI
BIT 11 =5 12 4f DI
BIT 12 =2 13 4f DI
BIT 13 =% 14 4{ DI
BIT 14 =5 15 4{ DI

BIT 15 =2¢ 16 4H DI




sEHEr 103/ B A< 106 (DO -82H= DI-84H )

ARSI E (16 HED) ZH st
0000 PO BIT 0=25 1 41 DO
1~84H
BIT 1=55 241 DO
BIT 2 =25 3 41 DO
BIT 3=25 4 41 DO
BIT 4=555 41 DO
BIT 5 =25 6 41 DO
BIT 6 =55 7 41 DO
BIT 7 =25 8 41 DO
0001 D! BIT 8 =25 9 41 DI
1~84H

BIT 9 =5 10 4H DI

BIT 10 =2¢ 11 4H DI
BIT 11 =55 12 4H DI
BIT 12 =2 13 4H DI
BIT 13 =2¢ 14 4H DI
BIT 14 =25 15 4H DI

BIT 15 =2F 16 24H DI




HS 03/ BAGS

106 ( A0 8 4HFdHH 4~20mA )

LA SR O B (16 HET) 23] it A
0002 . P
—eHimE 4~20mA #H{E | 2 A(EEE 0.0~ 100.0 %
BE T 4HimE 4~20mA B E | BA(EEIE 0.0 ~100.0 %
0004 I __d)
—4HimiE 4~20mA g E | 55 AYE#GEE : 0.0 ~ 100.0 %
0005 . J
ZEVU4H 7 4~20mA B E | = A(E#&E : 0.0 ~100.0 %
0006 . J
%5 A 40 E 4~20mA B E | = AE#&EE 0.0 ~100.0 %
0007 K e
ZE/NGH M 4~-20mA B HHAE | B3 A{E#E : 0.0 ~100.0 %
0008 - et
HE-4HimE 4~20mA g E | 2= AE#&[E 0.0 ~100.0 %
0009 e
25 J\&H /38 4~20mA B HE | 25 A{E#E : 0.0 ~100.0 %




ARl 103/ B AAS 106 (A0 8 &HFH ] 4~20mA) + DO - 8 ZH
AR B (16 HE(T) 28 st ]
0000 bO BIT 8 =25 9 48 DO
1~84
BIT 9 =% 10 2.DO
BIT 10 =5 11 4 DO
BIT 11 =25 12 4§ DO
BIT 12 =5 13 24 DO
BIT 13 =55 14 2 DO
BIT 14 =% 15 2 DO
BIT 15 =5 16 2 DO
0002 vl AN 4 SSE] .
%—2HiEE 4~20mA i {E | B AE#HE 0.0 ~100.0 %
0003 a o
g5 ¢H M 4~20mA i {E | B AEEE 0.0 ~100.0 %
0004 iy o
=20 4~20mA i {E | B A{E#HE 0.0 ~100.0 %
SEVUZHEE 4~20mA i | 55 AE#E 0.0 ~ 100.0 %
0006 o s . . e
S sH#AE 4~20mA B e | 55 AE#HE 0.0 ~100.0 %
7 eHAE 4~20mA B e | 55 AE#HE 0.0 ~100.0 %
0008 o N N o srerer .
FEdHiEE 4-20mA B E | 25 AEHEE 0.0 ~100.0 %
0009 s .
55 /\#HiHE 4~20mA i | 55 AE#HE 0.0 ~100.0 %




AT 103/ B AdES 106 (A0 8 ZHF ] 4~20mA) + DI - 8 4
AR B (16 HE(T) 28 st ]
0001 Dl BIT 8 =259 4H DI
1~84
BIT 9 =25 10 4f DI
BIT 10 =25 11 4H DI
BIT 11 =ZF 12 %{ DI
BIT 12 =25 13 24H DI
BIT 13 =25 14 2H DI
BIT 14 =25 15 2H DI
BIT 15 =25 16 2H DI
0002 vl VAN 4 SSE] .
S5 —4H#IE 4~20mA g (E | 5 A{E#E - 0.0 ~ 100.0 %
=5 _1&HmIE 4~20mA e | B A{E#HE - 0.0 ~ 100.0 %
0004 Y o
25 —4HmiE 4~20mA g e | B A{E#E - 0.0 ~ 100.0 %
0005 N o
SEVUZHEE 4~20mA i | 55 AE#E 0.0 ~ 100.0 %
0006 e R i
5140 EHE 4~20mA i {E | B AE#E (0.0 ~100.0 %
0007 sy N . srer= .
F/N&HIEE 4~20mA Bt E | B AE#HE © 0.0~ 100.0 %
0008 srerer .
EaHimiE 4~20mA fnHE | B AEFEE 0.0 ~100.0 %
0009 s
55 /\4HH7E 4~20mA B ti{E | 55 AME#E @ 0.0 ~ 100.0 %




